This question paper contains 8 printed pages]
Your Roll No. oo
4566
B.A. (Programme)/l C
L
PH]LOSOPHY DISCIPLINE—-Paper |
{Logical Reasoning}
{Admissions of 2004/2006 and onwards
for the students of Regular Cotleges/NCWEB)
Time : 3 Hours Maximum Marks : 75
(Write your Roll No. on the iop mmediately on receipt of this question paper.}

Note -— (N Answers may be written either in English or in
Hindi; but the same medium should be used

throughout the paper.

(i  The maximum marks printed on the question paper
are applicable for the students of the regular
colleges {Cat, ‘A’"). These marks will, however, be
scaled up proportionately in respect of the students
of NCWEB at the time of posting of awards for

compilation of result.

PTO.



(2) 4366
feouit :—() W Y- w1 S oAt @ fey R uw

ael A SifSw; wfed /4 39 & WeEn 1@
€ g =Ry |

Gy  9vETR m sifwa gufw frafae wiasi
(Uit A7) & faenfdd & fau swEre €
Jaft 4 3% NCWEB & faenfddi & waw
i @ ufiom @ gwen ® fag e
Ayt = amg |, 9 TWaE 9 H
Afw B |

All questions are compulsory.
it w9 sfEd ¥
Section ‘A’
(@us ‘1)
1. Explain the traditional square of opposition. 5
TRufes faiy = | e s gmem § 2
Or
(37eram)

Explain distribution of tenns.

‘g5t ® =i’ Y wrer wifs
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Give the converse. obverse and contraposition of the following

(any three) 3x3=9

frafafen & ofeds, dfaed ao wiv-wfad s e
(&g dF)

{H Some politicians are honest.
FH A AR §
(/1Y All flowers are beautiful.
ft FE =T ¥
(iif} Some officers are not honest.
wo AFEH AR T OE
(iv)  No Politicians are honest.

FE Tem e e §

Test the validity/invalidity of the following syllogism by using

rule method (any three) Ix2=6

ozl & g Fefefes <rgaed =1 dway
YA $ IR H oEHA wEy (HE W)

(7) AOO — 4
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(i AAA — 2

(iiy E10--3
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Section ‘B’
(@vg ‘=)

Construct a formal proof of Validity for the foliowing

(any two) : 2x5=10

frafafa & Sy &1 SEREE TH TG RIS
(#8 ) :

h AD>BvO

(M-N)DB

BvCDOM N/ . ADB
(i (P>2Q -R>S)

PvR

QoR)-(S2T)/ ~RvT
(i) Cv[B2(AD>D)

~C

B/~ADA- D)
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By using shorter (rwh table method determine the Validity/

invafidity of the following (any mo) : 2+5=10
oYW e K Gofa wowEn e Feeafafem w5
Sy adum & SR § SER TR (HE J)

iy B oA O
CoB!r~BwvwC
(ot P2 Q
Pv Qi Qw-P

Use truth table method to check whether the following are

fautology, contingent or contradiciory {any mo) : 2x4=8

e T Faf w1 S S gy e fr Srefaren
wa:ﬁ%,ma%mm'caiﬁﬁ) :

h PoQ=(PvQ)
@ Po@Po2Q=ql
{Hiy P 2(Q > ~R)

BT
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Translate the lollowing into the logical notation of
propositional functions and quantifiers (any fouwr) :

4x2=8
frfofEa ) TSI =Rl ud i 3
fefae (% |W)

fH  All mammals are not tigers. {(Mx_ TX)

o wWAIE YR OTET R

(if}  Almonds are nutritious. (Ax, Nx)
el dfes: § |
{rif) Only teachers are honest. (Tx. Hx)

e AATFE SHAER |

(i} Dancers are not always rich. (Tx, Rx)
TAE T WN TS oW |

(v) A few politicians are honest. {Px, Hx)
FS § I A §

Define the following expression interms of *v” and ‘~": 4

frafafea @t o 3w o F dftafim wifsg

~P=Q)
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Section ‘C’
(@vg '®)
Explain the foliowing with example {any one) : 7
ErmfafEd @1 3 wied e HifEy (FE ) ¢
(7 Fallacy of accident and Converse accident.
@y #in gfEfie ST aeaT |
(i) Difference between formal and informal fallacy.

sirafs am SHv=iE ddem H W |

Identify and explain the fallacies committed in the following
(any fwo) - 2x4=§
Srfefag § B fRe @ § 9RO ®1 TEEag SR
A T e (FE )

(/) Thirteen is one number. Seven and six are thirteen.

Therefore seven and six are one number.
3T TFH TH T | g 3T 9, E BN & | S8y

o it T ©H T ¥ )
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Aspirin relieves pain since it is analgesic.
ffm Efers § wifs " wwesies §

All of us cannot be famous because all of us cannot be

well known.

79 w9 faommm T @ 990 Rifs w7 w9 wfag
T © T |



